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1) Trust curvature;Radii:

852,00

3. Fasenwinkel zur optischen Achse

1. (( Rechenmate ))

Curvature radii and thickness don't agree [T. Lébhard]
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Assuming focal len
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dth moves

Photograph (28/03/12)
(Perspective corrected).

Technical
Drawing

Image width now
~ 50mm which looks too big for fibres

image plane position,
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2) Trrust focal length, change something else.
T. Lobhard assumed focal length but kept image position.
Implies rays parallel through PEMs (which is compelling)

but would require something else to be wrong.

Where is the
image plane??



